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Question 2 
 
Intent of Question  
 
The primary goals of this question were to assess a student’s ability to (1) calculate the sample size when given 
the endpoints of a confidence interval for a proportion; (2) explain how bias could be present in a particular 
survey method; and (3) estimate a proportion from sample data collected using a method designed to decrease 
bias. 
 
Solution 
 
Part (a): 
 

Using the standard formula for a confidence interval for one proportion, the interval (0.584 to 0.816) is found 

as follows. 
ˆ ˆ(1 )

ˆ  


p p
p z

n
 where 0.584 0.816ˆ 0.7,

2
 p  the margin of error is 0.816 0.7 0.116,   and 

* 1.96.z   

Solving 
0.7(1 0.7)

1.96 0.116



n

 yields 
2

2(1.96) (0.7)(1 0.7)
59.95.

(0.116)


 n  The sample size was 60. 

 
Part (b): 

 
Bias might have been introduced because students responded directly to the environmental science teacher. 
Because the students would know that an environmental science teacher cares about the environment, they 
might say yes when they actually don’t recycle. This would result in a point estimate that is greater than the 
proportion of all students who would respond yes to the question.  

 
Part (c): 
 

(i) The expected number is  1(300) 150.
2

  

 
(ii) The point estimate is based on expecting 150 students to be required to say no and 150 students to 

truthfully answer the question. Of the 213 answers of no, we expect that 213 150 63   were from 
students who truthfully answered the question. That means we expect that the remaining 150 63 87   
students truthfully answered the question and responded yes. So the point estimate for the proportion of 

all students at the high school who would respond yes to the question is 87 0.58.
150

  
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Question 2 (continued) 
 
Scoring 
 
Parts (a), (b), and (c) are scored as essentially correct (E), partially correct (P), or incorrect (I). 
 
Part (a) is scored as follows:  
 
Essentially correct (E) if the response satisfies the following five components: 

1. Uses a standard error in the form 
 ˆ ˆ1 p p

n
 where p̂  is between 0 and 1. 

2. Shows evidence that ˆ 0.7p  was correctly used in the standard error. 
3. Shows evidence that 0.116 was correctly used as the margin of error in the calculation. 
4. Shows evidence that * 1.96z  was correctly used as the critical value in the calculation. 
5. Includes a single, positive whole-number answer.  

 
Partially correct (P) if the response satisfies only three or four of the five components. 
 
Incorrect (I) if the response satisfies at most two of the five components. 
 
 
Notes: 

 Using an equation in the form 
 2

2

ˆ ˆ1

MOE

z p p
n


  satisfies component 1.  

 A value of 0.21 in the numerator of the standard error implies that ˆ 0.7p  was correctly used in the 
standard error and satisfies component 2.  

 An equation such as 0.816 0.7  MOE   implies that 0.116 was correctly used for the margin of error 
and satisfies component 3.  

 Statements that suggest a whole-number answer is approximate (such as, “about 60” or “  60”) satisfy 
component 5.  

 Algebraic work between the set-up and final answer does not need to be shown to satisfy component 5.  
 When calculating the values 0.7, 0.116, or 1.96, ignore minor arithmetic errors or transcription errors if 

they can be identified by the work shown.  
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Question 2 (continued) 
 
Part (b) is scored as follows: 
 
Essentially correct (E) if the response satisfies the following three components: 

1. Explains why the responses to the survey might differ from the truth about student recycling in this 
context (for example, the survey was not anonymous, the question was asked by an authority figure). 

2. Explains how the responses to the survey might differ from the truth about student recycling (for 
example, “students might say yes when they actually don’t recycle,” “students lie and say yes,” “students 
don’t recycle but lie to the teacher”). 

3. Describes the effect of the bias on the point estimate (or the proportion, percentage, number of yes 
responses in the sample) and doesn’t contradict the bias described.  

 
Partially correct (P) if the response satisfies only two of the three components. 
 
Incorrect (I) if the response satisfies at most one of the three components. 
 
Notes: 

 To satisfy component 1 the response must provide a reason that is based on a bias created by the teacher 
asking students in person. For example, a response that addresses the wording of the question, voluntary 
response, or sampling variability does not satisfy component 1.   

 To satisfy component 2 the response needs to explicitly contrast what the students say with what they do.   
 Evidence used to address component 3 cannot also be used to address component 2. For example, a 

response that says “Students might lie, producing an estimate that is too high” addresses the effect of the 
bias on the point estimate but should not be combined with the statement about students lying to infer that 
students do not actually recycle. However, a response that says “Students may lie and say yes, producing 
an estimate that is too high” satisfies both components 2 and 3.  

 If the response is clearly about the population proportion and not about the point estimate, component 3 
cannot be satisfied.  

 Statements such as “the interval will be too high” do not satisfy component 3 because they don’t 
specifically address the point estimate.    
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Question 2 (continued) 
 
Part (c) is scored as follows: 
 
Essentially correct (E) if the response gives an answer of 150 in (c-i) and gives an answer of 0.58 (or equivalent) 
in (c-ii). 
 
Partially correct (P) if the response gives an answer of 150 in (c-i) and gives an answer of 0.42 (or equivalent)  
in (c-ii); 

OR 
if the response does not give an answer of 150 in (c-i) but gives an answer of 0.58 (or equivalent) with supporting 
work in (c-ii). 
 
Incorrect (I) if the response does not meet the criteria for E or P.  
 
 
Notes: 

 In part (c-i) the answer must be a single number. Responses such as “at least 150” or “147–153” are 
incorrect. However, responses such as “about 150” or “  150” are acceptable.  

 In part (c-ii) the proportion can be described verbally (e.g., “87 out of 150”). 
 In part (c-ii) if the response clearly indicates that 0.58 (or 0.42) is the population proportion, lower the 

overall score in part (c) by one level (that is, from E to P, or from P to I). Using probability notation such 
as P(yes) does not clearly indicate a population proportion.  

 In part (c-ii) if the response includes a point estimate of 0.58 or 0.42 but uses a confidence interval as the 
final answer, lower the overall score in part (c) by one level (that is, from E to P, or from P to I). 

 If the answer is incorrect in part (c-i) and the answer in part (c-ii) uses numerator = 87 and  
denominator = 300 – answer to (c-i), the response should be scored P.  
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Question 2 (continued) 
 

 
 4 Complete Response 
 
   Three parts essentially correct 
 
 3 Substantial Response  
 
   Two parts essentially correct and one part partially correct 
 
 2 Developing Response 
 
   Two parts essentially correct and no parts partially correct 
  OR  

One part essentially correct and one or two parts partially correct 
  OR  

Three parts partially correct 
 
 1 Minimal Response 
 
   One part essentially correct 
  OR  

No parts essentially correct and one or two parts partially correct 



2. An environmental science teacher at a high school with a large population of students wanted to estimate the proportion of students at the school who regularly recycle plastic bottles. The teacher selected a random sampleof students at the school to survey. Each selected student went into-the teacher's office, one at a time,- and was asked to respond yes or no to the following question. 
Do you regularly recycle plastic bottles? 

Based on the responses, a 95 percent confidence interval for the proportion of all students at the sch09l who would respond yes to the question was calculated as (0.584, 0.816).
(a) How many students were in the sample selected by the environme�tal science teacher?
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(b) Given the method used by the environmental science teacher to collect the responses, explain how bias might have been introduced and describe how the bias might affect the point estimate of the proportion of allstudents at the school who would respond yes to the question. 
J:>ia� ff\i,ghl �q';,le_'. ½€.QJ")_ tt\�-UU2.� in �er� o� 
res�ons.e. b\0.9. . '\he.: €,.'\\',\\°("O(lffi€..t'\-\--O.. \ SC..\ �t'IU2... 
+-e.o.cl-\e., \� \ ,k-e.\B -to s� �o�+ re3v..�o..r\� 
r e c�c_.\ i� �\o.st\ c.. _· bot\-\ e S. 1 s. c s.1u�\'\T .S � 'Sn+
n0-\\� .· -�eJl.f\ t'<\O'('""e. · \, ke \� +o �es.9an� 8es -ro 
� l\..�+..c'(') 1 e�e." t � -\-\--o.--\-c Wo.-9. "o+ -\.h.2 ... \r-
iTUQ... o.. 'f\ s U-) 12.. r . "Th \s. b, o.. � t'{\ \_g 'r-i+ o... ��c-\- � 
�Q\{'\-\- eS.�("(\O..� o�-'� ,�r�o(") 0� (k\\ 
s�6.1<.11 +� o.-\- � sc...""ao\ Uu\--.o WC\.>-.\{\_ '\"""€S�n<:\ 
��s -\-0 � C\..�·tk�n b� a.°'u�,"'B � 
�o,C'rt ��o..¼., .. -:tQ. 'be_ -\-oo \--\\�Y"\ '. :DU-.L -to �
�tt�u..-r€- --\o o..ns w_e.r · 0-- dtr�r'i- -� l�$) 
-fr\Q-\- � S1uce.0-\-.s ,D � �?\e. \\�� 
fe. \-t , , .\- is \\ ke_\� +\-\°'* --\-\.c_ �o \ {)� 
es-n0\0--k wos +ol::) h\5 'n. 

I Unauthorized copying or reuse of I any part of lhia page Is Illegal. 

-8-

GO ON TO THE NEXT PAGE. 

© 2018 The College Board. 
Visit the College Board on the Web: www.collegeboard.org.



(c) The statistics teacher at the high school was concerned about the potential bias in the survey. To obtain apotentially less biased estimate of the proportion, the statistics teacher used an alternate method forcollecting student responses. A random sample of 300 students was selected, and each student was given thefollowing instructions on how to respond to the question.
• In private, flip a fair coin.
• If heads, you must !!!�p�:ri�_I!.,<?,E�gardless_9_f �hether JOU regularly recycle."-·-·---------------·"-··----· ' ' ·� ------------- --··-··-········�---'---· • If tails, please truthfully respond yes or no.

(i) What is the expected number of students from the sample of 300 who would be required to respond nobecause the coin flip resulted in heads?
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o.r"c be. ,e°'-u,�c � rE:.'S. 01\C �o ; (ii) The results of the. sample showed that 213 of the 30 selected stuq�nts responded no. Based on theresults of the sample, give a point estimate for the proportion of all students at the high school whowould respond� to the question.
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2. An environmental science teacher at a high school with a large population of students wanted to estimaw the 
�f students at the school who regularly recycle plastic bottles. The teacher sel�ted i"random sample
�s at the school to survey. Each selected student went into the-teacher's office, one at a time, and was 

asked to respond yes or no to the following question. 

Do you regularly recycle plastic bottles? 

Based on the responses, �rcent confidence inte�rtiqn of� student� at the school who 
would respond yes to the question was calculated � 

(a) How many students were in the sample selected by the environmental science teacher?
A ;- 4<" 1".e (t--:-?) 
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(b) 0ven the metho� used by the enviro�ental scien�e tea�her to collect th� res�nses: explain ho� 

IIDght have been mtroduced and descnbe how the bias m1ght affect the pomt esnmate of the pro�f all
students at the school who .would respond yes to the question. 
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(c) The statistics teacher at the high school was concerned about the potential bias in the survey. To obtain a
potentially less biased estimate of the proportion,

�
· sties teacher used an alternate method for

collecting student responses. A random sample o 300 .· dents was selected, and each student was given the
following instructions on how to respond to the qu on.

• In private, flip a fair coin.

• If heads, you must respond no, regardless of whether you regularly recycle.

• If tails, please tnithfully respond yes or no.

(i) What is·the·expected mim.ber of students from the sample of300'.who would be required to respond no
because the coin flip resulted in heads? � .
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/ 
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,�o 

(ii) The results of the sample showed tha(213'oftl�Jelected students :responde<{'no:)Based on the
results of the sample, give a point esti'inattfor the proportion of all students at thelifgh school who
would respond Y§ to the question. t-e, , hV ""'-�-¥ cJ ,t.. , t "'6 It . �S. p O � 
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Ar·� d-\ ... A 
2. An environmental science teacher at a high school with a large population of students wanted to estimate the

proportion of students afthe school who regularly recycle plastic bottles. The teacher selected a random sample
of students at the school to survey. Each selected student went into the teacher's office, one at a time, and was
asked to respond yes or no to the following question.

Do you regularly recycle plastic bottles? 

Based on the responses, a 95 percent confidence iI,1terval for the proportion of all students at the school who 
would respond yes to the question was calculated as (0.584, 0.816). 

(a) How many students were in the sample selected by the environmental science teacher?

f'"'� ,.es�mCt\.� 7:.- (o>i\\Q st D.1S��) J-i :::- O.)Cl-

toti)G0�1?l-
n-

(b) Given the method :used by the envitcmm�ntal sdence teacher to colle�t the respoijses, explain how bias
Iliight have heen in:qoduced imd des¢tibe }:l_o� the lJias might affe.ct the point estimat

.
e of the proportion Qf all 

stu-deJ1ts at the school who would respond yes to the questiQn. -
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(c) The statistics teacher at the high school was concerned ab.out the potential bias in the survey. To obtain a
potentially less biased estimate of-the proportion, the statistics teacher used an alternate method for
collecting student responses; A random sample of 300 students was selected, and each ·student was given the
fol1owing instructions on how to respond to the question.

• In private, flip a fair coin.

• If heads, you must respond no, regardless of whether you _reg1,1larly recycle.

• If tails, please truthfully respond yes or no.

(i). What is the expected number cif shi.de'nts from the sample of 300 who wmildbe requited to respond no 
because the coin flip resulted in heads? 

· · 

(ii) The results of the sample showed that 213 of the 300 selected students responded no. Based on the
results of the sample, give a point estimate for the proportion of all students at the high school who
would respond � to the question.
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Question 2 

Overview 
 
The primary goals of this question were to assess a student’s ability to (1) calculate the sample size when given 
the endpoints of a confidence interval for a proportion; (2) explain how bias could be present in a particular 
survey method; and (3) estimate a proportion from sample data collected using a method designed to decrease 
bias. 

Sample: 2A 
Score: 4 

In part (a) the response includes the formula 
pq
n

 for the standard error, satisfying component 1. Because the 

difference between a point estimate and population proportion is assessed in parts (b) and (c), using p and q instead 

of p̂  and q̂  in the formula was considered a minor error. In the equation 
 (0.7) 0.3

0.116 1.96 ,
n

 the response 

correctly uses ˆ 0.7p  in the standard error, which satisfies component 2, correctly uses 0.116 as the margin of 
error, which satisfies component 3, and correctly uses 1.96 as the critical value, which satisfies component 4. 
Finally, the response includes a single, positive whole-number answer (60), satisfying component 5. Because the 
response includes all five components, part (a) was scored as essentially correct. In part (b) the response provides a 
reason why the survey responses might be different from the truth (“Due to the pressure to answer a certain way”), 
satisfying component 1. The response explains how the survey responses differ from the truth (“more likely to 
respond yes to the question, even if that was not their true answer”), satisfying component 2. Finally, the response 
describes the effect of the bias on the point estimate (“causing the point estimate to be too high”), satisfying 
component 3. Because the response includes all three components, part (b) was scored as essentially correct. In 
part (c-i) the response gives an answer of 150. In part (c-ii) the response provides an answer of 0.58. Because the 
response includes both correct answers, part (c) was scored as essentially correct. Because three parts were scored 
as essentially correct, the response earned a score of 4. 

Sample: 2B 
Score: 3 

In part (a) the response includes the equation 
 .7 .3

0.116 1.96 ,
n

 which uses a standard error in the correct form, 

satisfying component 1. In the same equation, the response also correctly uses ˆ 0.7p  in the standard error, which 
satisfies component 2, correctly uses 0.116 as the margin of error, which satisfies component 3, and correctly uses 
1.96 as the critical value, satisfying component 4. Finally, the response includes a single, positive whole-number 
answer (60), satisfying component 5. Because the response includes all five components, part (a) was scored as 
essentially correct. In part (b) the response provides a reason why the survey responses might be different than the 
truth (“the students might feel pressure to answer yes”), satisfying component 1. While the response indicates that 
the students are likely to say yes (“pressure to answer yes”), the response does not indicate that the students do not 
actually recycle. Because the response does not describe how the survey responses would differ from the truth, 
component 2 is not satisfied. Finally, the response describes the effect of the bias on the point estimate (“the point-
estimate might overestimate the true proportion of all students who recycle plastic bottles”), satisfying component 3. 
Because the response includes two of the three components, part (b) was scored as partially correct. In part (c-i) the 
response gives an answer of 150. In part (c-ii) the response provides an answer of 0.58. Because the response 
includes both correct answers, part (c) was scored as essentially correct. Because two parts were scored as 
essentially correct, and one part was scored as partially correct, the response earned a score of 3.  
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Question 2 (continued) 

Sample: 2C 
Score: 2 

In part (a), the response includes the formula 
(0.7)(0.3)

0.584 0.7 1.96 , 
n

 which uses a standard error in the 

correct form, satisfying component 1. In the same equation, the response also correctly uses ˆ 0.7p  in the standard 
error, which satisfies component 2, and correctly uses 1.96 as the critical value, which satisfies component 4. 
Furthermore, the equation implies that 0.116 was correctly used for the margin of error (described in the third 
scoring note of the scoring guidelines), satisfying component 3. Finally, the response includes a single, positive 
whole-number answer (60), satisfying component 5. Because the response includes all five components, part (a) was 
scored as essentially correct. In part (b) the response provides a reason why the survey responses might be different 
from the truth (“Since the teacher asking the question is an environmental science teacher”), satisfying component 1. 
The response explains how the survey responses differ from the truth (“show that they recycle regularly when in 
reality they might not”), satisfying component 2. Finally, the response describes the effect of the bias on the point 
estimate (“the point estimate of the proportion may be higher than it actually is”), satisfying component 3. Because 
the response includes all three components, part (b) was scored as essentially correct. In part (c-i) the response gives 
an answer of 150. In part (c-ii) the response provides an answer of 0.29, which is the overall proportion of “yes” 
responses in the sample. Because the response in part (c-ii) does not account for the 150 students who would be 
expected to say “no” because of the coin flip, the response was scored as incorrect. Because two parts were scored 
as essentially correct, and one part was scored as incorrect, the response earned a score of 2. 
 


	ap18_apc_cover_statistics_question 2
	q2 Pages from ap18_sg_statistics-2
	q2 Pages from Statistics_APC_Final-2
	ap18_apc_statistics_commentary_q2_final


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




